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fl¨yï˛ Ï̂Ü˛y_Ó˚ ˛õyë˛e´ü

!¢«˛yÓ£Ï≈yhsˇ ˛õÓ˚#«˛y ÈÙÙÙ !í˛ˆÏ§¡∫Ó˚ñ 2009

çö≤Ã¢y§ö

≤ÃÌü ˛õe

§üÎ˚ É ã˛yÓ˚ â^ˇê˛y ˛õ)î≈üyö É 100

Süy Ï̂öÓ˚ =Ó˚&c É 80%V

˛õ!Ó˚!üï˛ Ä ÎÌyÎÌ í˛z_ˆÏÓ˚Ó˚ çöƒ !ÓˆÏ¢£Ï ü)°ƒ ˆòÄÎ˚y •ˆÏÓ–

x÷k˛ Óyöyöñ x˛õ!Ó˚FåÈß¨ï˛y ~ÓÇ x˛õ!Ó˚‹ÒyÓ˚ •hflÏy«˛ˆÏÓ˚Ó˚ ˆ«˛ˆÏe ö¡∫Ó˚

ˆÜ˛ˆÏê˛ ˆöÄÎ˚y •ˆÏÓ– í˛z˛õyˆÏhsˇ ≤ÃˆÏŸ¿Ó˚ ü)°ƒüyö §)!ã˛ï˛ xyˆÏåÈ–

1– ˆÎÈÙÈ̂ Ü˛y Ï̂öy ò % ! ê  ̨≤Ã̂ ÏŸ¿Ó̊ í z̨_Ó̊ !òö É 18×2=36

SÜ˛V çö≤Ã¢y§ Ï̂öÓ˚ ≤Ã!ï˛m®µ# xö%ôyÓö ˛õk˛!ï˛=!°Ó˚ Óî≈öy !òö–

SáV Ó˚y‹T… Ä §üy Ï̂çÓ˚ §¡õÜ≈̨  xy Ï̂°yã˛öy Ü˛ Ï̂Ó˚ ˆòáyö çö≤Ã¢y§ö Ü˛#û˛y Ï̂Ó ~•z

xy Ï̂°yã˛öyÓ˚ ˛õ Ï̂«˛ ≤Ãy§!DÜ˛⁄

SàV §yüy!çÜ˛ÈÙÈàîï˛y!sfÜ˛ çöÜ˛°ƒyîÓyò# Ó˚y Ï̂‹T…Ó˚ ü)° ö#!ï˛üyö=!°Ó˚ í z̨̨ õÓ˚

xy Ï̂°yÜ˛˛õyï˛ Ü˛Ó˚&ö–

SâV ˜ã˛!öÜ˛ ≤Ã¢y§öÓƒÓfliyÓ˚ fliyÎ˚# ~ÓÇ ˛õ!Ó˚Óï ≈̨ö¢#° ˜Ó!¢‹Tƒ=!°Ó˚ ≤Ã§ Ï̂D

˛õ!ÿ˛!ü ≤Ã¢y§öÓƒÓfliyÓ˚ § Ï̂D ~Ó˚ §yò,¢ƒ Ä ˜Ó§yò,¢ƒ=!°Ó˚ xy Ï̂°yã˛öy

Ü˛Ó̊&ö–

2– ˆÎÈÙÈ̂ Ü˛y Ï̂öy ! ï ˛ ö ! ê  ̨≤Ã̂ ÏŸ¿Ó̊ í z̨_Ó̊ !òö É 12×3=36

SÜ˛V çö≤Ã¢y§ö Ä ÓƒÓfliy˛õöy¢y Ï̂flfÓ˚ §¡õÜ≈̨  xy Ï̂°yã˛öy Ü˛Ó˚&ö–

SáV í z̨òyÓ˚̃ Ïö!ï˛Ü˛ Ó˚y‹T… §¡õ Ï̂Ü≈̨  ˆ•¥ÓyÓ˚#Î˚ ôyÓ˚îyÎ˚ö §¡õ Ï̂Ü≈̨  ühsˇÓƒ Ü˛Ó˚&ö–

SàV !Ó !ê˛¢ ≤Ã¢y§öÓƒÓfliyÓ˚ í z̨̨ õÓ˚ ÓƒÓfliy˛õÜ˛#Î˚ ò,!‹Tû˛!DÓ˚ Ü˛# ≤Ãû˛yÓ ˛õ Ï̂í ¸̨̂ ÏåÈ⁄

SâV §üyçï˛sf# ≤Ã¢y§ Ï̂öÓ˚ ˜Ó!¢‹Tƒ=!° ˛õ!Ó˚fl≥%̨ ê˛ Ü˛Ó˚&ö–

SäV àîï˛ Ï̂sfÓ˚ x§%!Óôy=!° Óƒyáƒy Ü˛Ó˚&ö– xy˛õ!ö !Ü˛ ü Ï̂ö Ü˛ Ï̂Ó˚ö û˛yÓ˚ï˛Ó Ï̂£Ï≈

àîï˛sf ÓƒÌ≈⁄

Sã˛V §üyçï˛sf# ≤Ã¢y§ö !Ó£Ï̂ ÏÎ˚ ˆ°!ö Ï̂öÓ˚ ôyÓ˚îy Ü˛#⁄

3– ˆÎÈÙÈˆÜ˛yˆÏöy ã˛yÓ˚!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 7×4=28

SÜ˛V çö≤Ã¢y§ Ï̂öÓ˚ ÓyhflÏÓƒ!ÓòƒÜ˛ xö%ôyÓö˛õk˛!ï˛!ê˛Ó˚ =î=!° Ü˛# Ü˛#⁄

SáV ˆ•¥Óy Ï̂Ó˚Ó˚ ü Ï̂ï˛ xyü°yï˛ Ï̂sfÓ˚ ˜Ó!¢‹Tƒ=!° Ü˛# Ü˛#⁄

SàV ã˛Ó˚üï˛y!sfÜ˛ Ó˚y Ï̂‹T…Ó˚ ˆÌ Ï̂Ü˛ í z̨òyÓ˚̃ Ïö!ï˛Ü˛ Ó˚y Ï̂‹T… í z̨_Ó˚̂ ÏîÓ˚ ôy˛õ=!° Ü˛# Ü˛#⁄

SâV ≤Ãçyï˛y!sfÜ˛ï˛y !Ü˛ àîï˛ Ï̂sfÓ˚ ˛õ Ï̂«˛ Î Ï̂Ì‹T⁄

SäV öÓ çö˛õ!Ó˚ã˛y°ö Ü˛# x Ï̂Ì≈ ÓyçyÓ˚ ˆüÔ!°Ü˛ï˛yÓy Ï̂òÓ˚ § Ï̂D §¡õ!Ü≈̨ ï˛⁄

Sã˛V ˜ã˛!öÜ˛ ≤Ã¢y§ Ï̂öÓ˚ §y¡±!ï˛Ü˛ ˛õ!Ó˚Óï ≈̨ö=!° Ü˛# Ü˛#⁄

SåÈV ˜ã˛!öÜ˛ ≤Ã¢y§ Ï̂ö !Ó Ï̂¢£Ï#Ü˛Ó˚î Ä ˆ˛õ¢yòy!Ó˚c §¡∫̂ Ï¶˛ !°á%ö–

SçV xÇ¢@ˇÃ•î!û˛!_Ü˛ ÓƒÓfliy˛õöyÓ˚ xÌ≈ Ü˛#⁄

English Version

1. Answer any two of the following questions :18×2=36

(a) Give a discription of the contending approaches to
Public Administration.

(b) After discussing the relationship between state and
society show how Public Administration becomes rel-
evant to this discussion.

(c) Bhrow light on the basic values of the social demo-
cratic welfare state.

(d) Discuss the similarities and differences between the
Chinese and Western administrative system in the con-
text of the permanent and changing features of Chinese
Administration.

P.T.O.
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2. Answer any three of the following questions : 12×3=36

(a) Discuss the relationship of Public Administration with
the discipline of Management.

(b) Comment on the Weberian conceptualization of the
Liberal State.

(c) What has been the impact of the managerialist
approach on the British administrative system ?

(d) Bring out the features of socialist administration.

(e) Explain the disadvantages of democracy. Do you think
that democracy is a failure in India ?

(f) What is Lenin’s idea of socialist administration ?

3. Answer any four of the following questions :7×4=28

(a) What are the merits of the ecological approach to
Public Administration ?

(b) What are the characteristics of bureaucracy according
to Weber ?

(c) What are the steps in the transition from the absolutist
to the liberal state ?

(d) Is republicanism sufficient for democracy ?

(e) In what sense is New Public Management related with
market fundamentalism ?

(f) What are the recent changes in Chinese Administration?

(g) Write about ‘specialization’ and ‘professionalism’ in
Chinese Administration.

(h) What is the meaning of ‘participatory management’?

PG PA-I(3)
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fl¨yï˛ Ï̂Ü˛y_Ó˚ ˛õyë˛e´ü

!¢«˛yÓ£Ï≈yhsˇ ˛õÓ˚#«˛y ÈÙÙÙ !í˛ Ï̂§¡∫Ó˚ñ 2009

çö≤Ã¢y§ö

!mï˛#Î˚ ˛õe

§üÎ˚ É ã˛yÓ˚ â^ˇê˛y ˛õ)î≈üyö É 100

Süy Ï̂öÓ˚ =Ó˚&c É 80%V

˛õ!Ó˚!üï˛ Ä ÎÌyÎÌ í z̨_ Ï̂Ó˚Ó˚ çöƒ !Ó Ï̂¢£Ï ü)°ƒ ˆòÄÎ˚y • Ï̂Ó–

x÷k˛ Óyöyöñ x˛õ!Ó˚FåÈß¨ï˛y ~ÓÇ x˛õ!Ó˚‹ÒyÓ˚ •hflÏy«˛ Ï̂Ó˚Ó˚ ˆ«˛ Ï̂e ö¡∫Ó˚

ˆÜ˛ Ï̂ê˛ ˆöÄÎ˚y • Ï̂Ó– í z̨̨ õy Ï̂hsˇ ≤Ã Ï̂Ÿ¿Ó˚ ü)°ƒüyö §)!ã˛ï˛ xy Ï̂åÈ–

!Óû˛yà ÈÙÙÙÈ Ü˛

ˆÎÈÙÈˆÜ˛y Ï̂öy ò%!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 18×2=36

1– Ó˚ƒ°§‰ÈÙÈ~Ó˚ öƒyÎ˚˛õÓ˚yÎ˚îï˛yÓ˚ ï˛ˆÏ_¥Ó˚ ü)° ˜Ó!¢‹Tƒ=!° !Óã˛yÓ˚ Ü˛Ó˚&ö–

˛õ!Ó˚Ó!ï≈̨ ï˛ ˛õ!Ó˚̂ Ï≤Ã!«˛ Ï̂ï˛ ≤Ã¢y§ Ï̂öÓ˚ ˆ«˛ Ï̂e ~=!° Ü˛ï˛ê˛y ≤Ãy§!DÜ˛⁄

xy˛õöyÓ˚ x!û˛ü Ï̂ï˛Ó˚ §üÌ≈̂ Ïö Î%!_´ Óƒyáƒy Ü˛Ó˚&ö–

2– ˆ•û˛yÓ˚üy§ÈÙÈ~Ó˚ Úöyà!Ó˚Ü˛ ˛õ!Ó˚§Ó˚ÛÈÙÈ~Ó˚ ôyÓ˚îy §¡õ Ï̂Ü≈̨  xy˛õöyÓ˚ ühsˇÓƒ

!ÓÓ,ï˛ Ü˛Ó˚&ö–

3– öÓ çö˛õ!Ó˚ã˛y°ö ÓƒÓfliyÓ˚ ≤Ãôyö í z̨̨ õyòyö=!° Ü˛# Ü˛#⁄ ≤Ã¢y§ Ï̂ö öÓ

çö˛õ!Ó˚ã˛y°ö ò,!‹Tû˛!D §¡õ Ï̂Ü≈̨  ~Ü˛!ê˛ §üy Ï̂°yã˛öyü)°Ü˛ ü)°ƒyÎ˚ö Ü˛Ó˚&ö–

4– ï˛ Ï̂ÌƒÓ̊ x!ôÜ˛yÓ̊ xy•zö Ü˛#û˛y Ï̂Ó §Ó̊Ü˛y!Ó̊ ÓƒÓfliyÎ̊ fl∫FåÈï˛y §%!ö!ÿ˛ï˛ Ü˛Ó̊ Ï̂Ó

ï˛y•y í z̨̨ õÎ%_´ í z̨òy•Ó˚î§• Óƒyáƒy Ü˛Ó˚&ö–

!Óû˛yà ÈÙÙÙÈ á

ˆÎÈÙÈˆÜ˛yˆÏöy !ï˛ö!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 12×3=36

5– çö≤Ã¢y§ Ï̂ö ˜ö!ï˛Ü˛ï˛yÓ˚ =Ó˚&c !Ó Ï̂Ÿ’£Ïî Ü˛Ó˚&ö–

6– Ú!ÓÜ˛y¢ ≤Ã¢y§öÛ Ó° Ï̂ï˛ Ü˛# ˆÓyé˛yÎ˚⁄ !Ó˚à‰§‰ÈÙÈ~Ó˚ !ÓÜ˛y¢ ≤Ã¢y§ö ï˛_¥

Óƒyáƒy Ü˛Ó˚&ö–

P.T.O.

7– í ẑ̨ Ïòƒyà# ≤Ã¢y§ö Ó° Ï̂ï˛ xy˛õ!ö Ü˛# ˆÓy Ï̂é˛ö⁄ í ẑ̨ Ïòƒyà# ≤Ã¢y§ Ï̂öÓ̊ ü)°ö#!ï˛

~ÓÇ ôÓ˚ö=!° ˛õÎ≈y Ï̂°yã˛öy Ü˛Ó˚&ö–

8– û˛yÓ˚ï˛#Î˚ ÓƒÓfliyÓ˚ §!ÓˆÏ¢£Ï í˛zˆÏÕ‘á§• öyà!Ó˚Ü˛ x!û˛ˆÏÎyà ≤Ã!ï˛!ÓôyˆÏöÓ˚

≤Ãy!ï˛¤˛y!öÜ˛ í z̨̨ õyÎ˚§ü)• xy Ï̂°yã˛öy Ü˛Ó˚&ö–

9– Ú§%¢y§öÛ Ó°ˆÏï˛ Ü˛# ˆÓyé˛yÎ˚⁄ û˛yÓ˚ˆÏï˛ §%¢y§ˆÏöÓ˚ °ˆÏ«˛ƒ Ó˚y‹T… Ä

§üy Ï̂çÓ˚ §!¡ø!°ï˛ ≤Ã Ï̂ã˛‹TyÓ˚ §%̂ ÏÎyà Ü˛ï˛ê˛y xy Ï̂åÈ xy Ï̂°yã˛öy Ü˛Ó˚&ö–

10– û˛yÓ̊ Ï̂ï˛ §Ç Ï̂Óòö¢#° ≤Ã¢y§!öÜ˛ ÓƒÓfliy !öü≈y Ï̂î §ÇflÒyÓ̊ü)°Ü˛ í ẑ̨ Ïòƒyà§ü)•

!Ó Ï̂Ÿ’£Ïî Ü˛Ó̊&ö–

!Óû˛yà ÈÙÙÙÈ à

ˆÎÈÙÈˆÜ˛yˆÏöy ã˛yÓ˚!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 7×4=28

11– çö Ó˚ƒ°‰§ Ü˛#û˛y Ï̂Ó Ú§%¢,C°Û §üy Ï̂çÓ˚ ˜Ó!¢‹Tƒ=!° !ã˛!•´ï˛ Ü˛ Ï̂Ó˚̂ ÏåÈö⁄

12– !ÓÜ˛y¢ ≤Ã¢y§ Ï̂öÓ˚ §yú˛ Ï̂°ƒÓ˚ ¢ï≈̨  !•§y Ï̂Ó !ÓÜ˛y Ï̂¢Ó˚ xyÌ≈ö#!ï˛Ü˛

˛õ!Ó˚ˆÏ≤Ã!«˛ï˛ !ÓˆÏŸ’£Ïî Ü˛Ó˚&ö–

13– xyü°yï˛sf §¡õ Ï̂Ü≈̨  üyÜ ≈̨§ÈÙÈ~Ó˚ x!û˛üï˛ §Ç Ï̂«˛ Į̈̂ õ Óƒyáƒy Ü˛Ó˚&ö–

14– Ü˛#û˛y Ï̂Ó ÚÎsf!öû≈̨ Ó˚ §Çfl,Ò!ï˛Û ˆÌ Ï̂Ü˛ Úˆ˛õÔÓ˚ §Çfl,Ò!ï˛Û ˛õ,ÌÜ˛ ï˛y•y §Ç Ï̂«˛ Į̈̂ õ

xy Ï̂°yã˛öy Ü˛Ó̊&ö–

15– öÓ çö≤Ã¢y§ö xy Ï̂®y° Ï̂öÓ˚ í z̨qÓ §¡õ Ï̂Ü≈̨  ~Ü˛ §Ç!«˛Æ Ó˚*˛õ Ï̂Ó˚áy !òö–

16– Úöyà!Ó˚Ü˛ §öòÛÈÙÈ~Ó˚ ôyÓ˚îy Óƒyáƒy Ü˛Ó˚&ö–

English Version

Group – A

Answer any two questions : 18×2=36

1. Examine the basic features of Rawl’s theory of Justice.
How far are these relevant in the changing perspectives
of governance?

2. Comment on the views of Habermas on ‘Public
Sphere’.

PG PA-II (2)PG PA-II
B/Jl/08

P–22
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3. What are the major components of New Public
Management? Make a critical appraisal of the New
Public Management approach in administration.

4. Explain, with suitable illustrations, how the Right to
Information ensures transparency in administrative
system.

Group – B

Answer any three questions : 12×3=36

5. Analyse the importance of ethics in public
administration.

6. What is ‘development administration’? Explain the
Riggsian theory of development administration.

7. What do you mean by entreprenurial government?
Examine the major principles and forms of
entrepreneurial government.

8. Discuss, with special reference to India, the various
institutional devices available for the redressal of
citizens’ grievances.

9. What is ‘good governance’? Discuss the scope for
State-Society synergy for promotion of good
governance in India.

10. Analyse the attempts for reforms towards development
of responsive administrative system in India.

Group – C

Attempt any four questions : 7×4=28

11. How does John Rawls characterise a ‘well-order’
society?

12. Analyse the economic context of development for the
success of development administration.

(3) PG PA-II

13. Explain briefly Marx’s views on bureaucracy.

14. Discuss, in brief, how does ‘civic culture’ differ from
‘machine based culture’.

15. Give a brief outline of the emergence of New Public
Administration movement.

16. Explain the concept of ‘citizens’ charter’.

(4)PG PA-II

P.T.O.
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fl¨yï˛ Ï̂Ü˛y_Ó˚ ˛õyë˛e´ü

!¢«˛yÓ£Ï≈yhsˇ ˛õÓ˚#«˛y ÈÙÙÙ !í˛ Ï̂§¡∫Ó˚ñ 2009

çö≤Ã¢y§ö

ï,̨ ï˛#Î˚ ˛õe

§üÎ˚ É ã˛yÓ˚ â^ˇê˛y ˛õ)î≈üyö É 100

Süy Ï̂öÓ˚ =Ó˚&c É 80%V

˛õ!Ó˚!üï˛ Ä ÎÌyÎÌ í z̨_ Ï̂Ó˚Ó˚ çöƒ !Ó Ï̂¢£Ï ü)°ƒ ˆòÄÎ˚y • Ï̂Ó–

x÷k˛ Óyöyöñ x˛õ!Ó˚FåÈß¨ï˛y ~ÓÇ x˛õ!Ó˚‹ÒyÓ˚ •hflÏy«˛ Ï̂Ó˚Ó˚ ˆ«˛ Ï̂e ö¡∫Ó˚

ˆÜ˛ Ï̂ê˛ ˆöÄÎ˚y • Ï̂Ó– í z̨̨ õy Ï̂hsˇ ≤Ã Ï̂Ÿ¿Ó˚ ü)°ƒüyö §)!ã˛ï˛ xy Ï̂åÈ–

1– !ö¡¨!°!áï˛ ≤ÃŸ¿=!°Ó˚ ˆÎÈÙÈˆÜ˛y Ï̂öy ò%!ê˛Ó ̊ í z̨_Ó˚ !òö É 18×2=36

SÜ˛V üyöÓ§¡õò í z̨ß¨Î˚ö ˛õ!Ó˚ã˛y°öy Ó° Ï̂ï˛ Ü˛# ˆÓy Ï̂é˛ö⁄ ˜ÓK˛y!öÜ˛ ˛õ!Ó˚ã˛y°ö

ˆÌ Ï̂Ü˛ üyöÓ§¡õò í z̨ß¨Î˚ö ˛õ!Ó˚ã˛y° Ï̂öÓ˚ ≤Ã Ï̂û˛ò !öî≈Î˚ Ü˛Ó˚&ö– 8+10=18

SáV çö≤Ã¢y§ Ï̂öÓ˚ ü!•°y Ï̂òÓ˚ xÇ¢@ˇÃ• Ï̂îÓ˚ ≤Ã Ï̂Î˚yçö#Î˚ï˛y xy Ï̂°yã˛öy Ü˛Ó˚&ö–

û˛yÓ˚ï˛#Î˚ ≤Ã¢y§ö ÓƒÓfliyÓ˚ §yˆÏ˛õˆÏ«˛ ≤Ã¢y§ˆÏö ü!•°yˆÏòÓ˚ !öˆÏÎ˚yà §¡∫ˆÏ¶˛

~Ü˛!ê˛ ≤ÃÓ¶˛ Ó˚ã˛öy Ü˛Ó˚&ö– 8+10=18

SàV üyöÓ§¡õò !•§yÓÓ˚«˛î (Accounting) (HRA) Ó° Ï̂ï˛ Ü˛# ˆÓy Ï̂é˛ö⁄

~Ó˚ í ẑ̨ Ïj¢ƒ=!° Ü˛# Ü˛#⁄

SâV û˛yÓ˚ï˛#Î˚ ≤Ã¢y§!öÜ˛ Ü,̨ ï˛ƒ Ï̂Ü˛ xy!ôÜ˛y!Ó˚Ü˛ Ï̂òÓ˚ !ö Ï̂Î˚yà Ä ≤Ã!¢«˛î ˛õk˛!ï˛

!ö Ï̂Î˚ ~Ü˛!ê˛ ≤ÃÓ¶˛ Ó˚ã˛öy Ü˛Ó˚&ö– 18

SäV xy˛õ!ö !Ü˛ ü Ï̂ö Ü˛ Ï̂Ó˚öñ Óƒ!_´ xÌ≈̃ Ïö!ï˛Ü˛ ˛õ%Ó˚flÒy Ï̂Ó˚Ó˚ myÓ˚y•z ˆÜ˛Ó°üye

í z̨Í§y!•ï˛ ˆÓyô Ü˛ Ï̂Ó˚ö⁄ xy˛õöyÓ˚ í z̨_ Ï̂Ó˚Ó˚ §˛õ Ï̂«˛ Î%!_´ !òö– ÈÙÙÙÈ

•yç≈ÓyˆÏà≈Ó˚ ‘Two-Factor Model’ !ÓˆÏŸ’£Ïî Ü˛Ó˚&ö–

2– !ö¡¨!°!áï˛ ≤ÃŸ¿=!°Ó˚ ˆÎÈÙÈˆÜ˛y Ï̂öy !ï˛ö!ê˛Ó˚ í z̨_Ó˚ !òö É 12×3=36

SÜ˛V ÓƒÓfliy˛õöy ~ÓÇ ≤Ã¢y§ Ï̂öÓ˚ ü Ï̂ôƒ ˛õyÌ≈Ü˛ƒ !öÓ˚*˛õî Ü˛Ó˚&ö– 12

SáV Ü˛yˆÏçÓ˚ ü)°ƒyÎ˚ˆÏöÓ˚ (Performance Appraisal) ≤Ã!e´Î˚y=!°Ó˚ Ä˛õÓ˚

~Ü˛!ê˛ ê˛#Ü˛y Ó˚ã˛öy Ü˛Ó˚&ö– 12

SàV û˛yÓ˚ˆÏï˛ §Ó˚Ü˛y!Ó˚ ã˛yÜ%˛!Ó˚ˆÏï˛ Úû)˛!ü˛õ%eÛÈÙÈˆòÓ˚ !öˆÏÎ˚yà !Ó£ÏˆÏÎ˚ ~Ü˛!ê˛ ≤ÃÓ¶˛

Ó˚ã˛öy Ü˛Ó˚&ö– ~ ≤Ã§ Ï̂D §y¡±!ï˛Ü˛ âê˛öye´ Ï̂üÓ˚ í ẑ̨ ÏÕ‘á Ü˛Ó˚&ö– 12

SâV ˆÓï˛ö Ü˛yë˛y Ï̂üy !öô≈yÓ̊ Ï̂îÓ̊ ö#!ï˛=!° xy Ï̂°yã˛öy Ü˛Ó̊&ö– üyöÓ§¡õò í z̨ß̈Î̊ö

ÓƒÓfliy˛õöyÎ˚ «˛!ï˛˛õ)Ó˚î!û˛!_Ü˛ ≤Ã¢y§ö Ü˛#û˛y Ï̂Ó ≤Ãy§!DÜ˛ • Ï̂Î˚ í ẑ̨ Ïë˛ Ï̂åÈ⁄

8+4=12

SäV Ú≤Ãy!hsˇÜ˛ §%!ÓôyÛ (Fringe Benefits) §¡∫̂ Ï¶˛ ~Ü˛!ê˛ öy!ï˛ò#â≈ ≤ÃÓ¶˛ Ó˚ã˛öy

Ü˛Ó̊&ö– 12

Sã˛V Ú!ö‹Òy¢ö ˛ö#!ï˛Û §¡∫̂ Ï¶˛ ~Ü˛!ê˛ ê˛#Ü˛y Ó̊ã˛öy Ü˛Ó̊&ö– û˛yÓ̊ï˛#Î̊ xÌ≈ö#!ï˛ Ï̂ï˛ ~Ó̊

≤Ã Ï̂Î˚yà §¡∫̂ Ï¶˛ xy Ï̂°yã˛öy Ü˛Ó˚&ö– 6+6=12

SåÈV üƒy§ Ï̂°yÓ˚ Ú≤Ã Ï̂Î˚yç Ï̂öÓ˚ hflÏÓ˚!Óöƒy§Û ï˛_¥ Óƒyáƒy Ü˛Ó˚&ö– 12

3– ê˛#Ü˛y !°á%ö SˆÎÈÙÈˆÜ˛y Ï̂öy ã˛yÓ˚!ê˛V É 7×4=28

SÜ˛V üƒy§ˆÏ°yÓ˚ ≤ÃˆÏÎ˚yçö !§Ö!í˛¸–

SáV !¢“ Ï̂«˛ Ï̂e §¡õ Ï̂Ü≈̨ Ó̊ í ẑ̨ Ïj¢ƒ§ü)•–

SàV ˜ÓK˛y!öÜ˛ ÓƒÓfliy˛õöyÓ˚ ü)° ö#!ï˛§ü)•–

SâV ÚˆÓyöy§ ≤Ãòyö xy•zöÛ ÈÙÙÙÈ 1965–

SäV xy Ï̂Ó¢ö ≤Ã!¢«˛î–

Sã˛V Ü˛ü≈§¡õyòö §Çe´yhsˇ ˛õ!Ó˚ã˛y° Ï̂ö ÚÚ360
0
 !í˛!@ˇÃ !ú˛í˛ÓƒyÜ˛ÛÛ–

SåÈV §Çà!ë˛ï˛ ˆ«˛ Ï̂e ü!•°y Ï̂òÓ˚ !ö Ï̂Î˚yà §Çe´yhsˇ ≤Ã Ï̂Ÿ¿ xyhsˇç≈y!ï˛Ü˛ ◊ü§Çfliy

(ILO) ÈÙÈ~Ó˚ üï˛yüï˛–

SçV üyöÓ§¡õò ˛õ!Ó˚ã˛y°ö Ä Ü˛ü≈#ÈÙÈÓƒÓfliy˛õöyÓ˚ ü Ï̂ôƒ ü%áƒ ˛õyÌ≈Ü˛ƒ§ü)•–

P.T.O.

PG PA-III (2)PG PA-III
B/Jl/08

W–36



$6$

Public
Ad
mini

stration

24 NOV
2009

#
1st

Proof
#

Netai

English Version

1. Answer any two of the following questions :18×2=36

(a) What do you understand by Human Resource Devel-
opment Management ? Make a distinction between Sci-
entific Management and Human Resource Develop-
ment Management. 8+10=18

(b) Discuss the importance of women’s participation in
public administration. Write an essay on employment
of women in Indian administration. 8+10=18

(c) What do you understand by Human Resource Account-
ing? What are the objectives of HRA ? 8+10=18

(d) What are the methods of recruitment and training in
Indian Administrative services. 10+8=18

(e) Do you think that man is motivated by economic re-
wards only? Justify your answer. Analyse Herzberg’s
Two-Factor Model.

2. Answer any three of the following questions : 12×3=36

(a) Distinguish between Management and Administration.

(b) Write a note on the methods of performance appraisal.
12

(c) Write an essay on appointing the ‘sons of the soil’ in
government service in India, with a special reference to
recent developments.

(d) Discuss the principles of salary fixation. How compen-
sation administration is relevant for human resource
development management. 8+4=12

(e) Write an essay on ‘Fringe Benefits’. 12

PG PA-III(3) (4)

(f) Write a note on ‘Exit Policy’. Discuss about its imple-
mentation on Indian economics. 6+6=12

(g) Explain Maslow’s theory of ‘Hierarchy of Needs’.

3. Write short notes on any four of the following :
7×4=28

(a) Maslow’s “Need Ladder”.

(b) Objectives of Industrial Relation.

(c) Principles of Scientific Management.

(d) Bonus Payment Act 1965.

(e) Induction Training.

(f) 360 – Degree Feedback in the field of performance
management.

(g) ILO’s views on women employment in organised
sector.

(h) Main differences between HRM (Human Resource
Management) and Personnel Management.

P.T.O.

PG PA-III
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fl¨yï˛ Ï̂Ü˛y_Ó˚ ˛õyë˛e´ü

!¢«˛yÓ£Ï≈yhsˇ ˛õÓ˚#«˛y ÈÙÙÙ !í˛ Ï̂§¡∫Ó˚ñ 2009

çö≤Ã¢y§ö

ã˛ï%̨ Ì≈ ˛õe

§üÎ˚ É ã˛yÓ˚ â^ˇê˛y ˛õ)î≈üyö É 100

Süy Ï̂öÓ˚ =Ó˚&c É 80%V

˛õ!Ó˚!üï˛ Ä ÎÌyÎÌ í z̨_ Ï̂Ó˚Ó˚ çöƒ !Ó Ï̂¢£Ï ü)°ƒ ˆòÄÎ˚y • Ï̂Ó–

x÷k˛ Óyöyöñ x˛õ!Ó˚FåÈß¨ï˛y ~ÓÇ x˛õ!Ó˚‹ÒyÓ˚ •hflÏy«˛ Ï̂Ó˚Ó˚ ˆ«˛ Ï̂e ö¡∫Ó˚

ˆÜ˛ Ï̂ê˛ ˆöÄÎ˚y • Ï̂Ó– í z̨̨ õy Ï̂hsˇ ≤Ã Ï̂Ÿ¿Ó˚ ü)°ƒüyö §)!ã˛ï˛ xy Ï̂åÈ–

1– !ö¡¨!°!áï˛ ≤ÃŸ¿=!°Ó˚ ˆÎÈÙÈˆÜ˛y Ï̂öy ò%!ê˛Ó˚ í z̨_Ó˚ !òö É 18×2=36

SÜ˛V !ÓÜ˛y¢ ≤Ã¢y§ Ï̂öÓ˚ í z̨q Ï̂ÓÓ˚ ~Ü˛!ê˛ Ó˚*˛õ Ï̂Ó˚áy !òö–

SáV §öyï˛ö ≤Ã¢y§ö Ä !ÓÜ˛y¢ ≤Ã¢y§ Ï̂öÓ˚ ü Ï̂ôƒ ˛õyÌ≈Ü˛ƒ ï%̨ Ï̂° ôÓ˚&ö–

SàV Ü˛°ƒyîü)°Ü˛ ˆ«˛e ˆÌ Ï̂Ü˛ Ó˚y‹T…̂ ÏÜ˛ =!ê˛ Ï̂Î˚ ˆöÄÎ˚yÓ˚ ú˛° Ü˛#⁄

SâV ï˛ú˛!¢!° çy!ï˛ † çöçy!ï˛ Ï̂òÓ˚ ü)° §ü§ƒy Ü˛# Ü˛#⁄ ~•z çö Ï̂ày¤˛#Ó˚

üyö%£Ï̂ ÏòÓ˚ çöƒ §Ç!Óôy Ï̂ö Ü˛# Ü˛# ÓƒÓfliy xy Ï̂åÈ ï˛y !°á%ö–

2– !ö¡¨!°!áï˛ ≤ÃŸ¿=!°Ó˚ ˆÎÈÙÈˆÜ˛y Ï̂öy !ï˛ö!ê˛Ó ̊ í z̨_Ó˚ !òö É 12×3=36

SÜ˛V Ü˛ï,≈˛ˆÏcÓ˚ !ÓˆÏÜ˛w#Ü˛Ó˚ˆÏîÓ˚ =Ó˚&c !ÓˆÏŸ’£Ïî Ü˛Ó˚&ö–

SáV ˆç°yhflÏˆÏÓ˚Ó˚ ˛õ!Ó˚Ü˛“öy ÓƒÓfliyÓ˚ Ó˚*˛õˆÏÓ˚áy !òö–

SàV öyÓ˚#Ü˛°ƒy Ï̂îÓ˚ í ẑ̨ Ïj Ï̂¢ƒ à,•#ï˛ ≤Ãôyö ≤Ãôyö §Ó˚Ü˛y!Ó˚ ≤ÃÜ˛“=!° xy Ï̂°yã˛öy

Ü˛Ó̊&ö–

SâV ˛õ!Ó˚̂ ÏÓ¢ §Çe´yhsˇ !Ó£Ï̂ ÏÎ˚Ó˚ § Ï̂D öyÓ˚#Ó˚ fl∫yÌ≈ Ü˛#û˛y Ï̂Ó ç!í ¸̨ï˛ ï˛y Óƒyáƒy

Ü˛Ó̊&ö–

SäV ≤ÃÌü ˛õM˛ÈÓy!£Ï≈Ü˛# ˛õ!Ó˚Ü˛“öyÎ˚ xyü°yï˛ Ï̂sfÓ˚ Ü˛yç Ï̂Ü˛ Ü˛#û˛y Ï̂Ó ˆòáy

• Ï̂Î̊!åÈ°⁄

Sã˛V Ó˚yçƒ ˛õ!Ó˚Ü˛“öy ˆÓyí≈̨ ÈÙÈ~Ó˚ Ü˛yÎ≈yÓ!° Ü˛# Ü˛#⁄

3– !ö¡¨!°!áï˛ ã˛yÓ˚!ê˛ §¡∫̂ Ï¶˛ §Ç!«˛Æ ê˛#Ü˛y !°á%ö É 7×4=28

SÜ˛V û˛yÓ˚ï˛#Î˚ §Ç!ÓôyˆÏöÓ˚ 40 öÇ ôyÓ˚y–

SáV xy•z. !§. !í˛. ~§ ≤ÃÜ˛ Ï̂“Ó˚ ü)° ˜Ó!¢‹Tƒ=!°–

SàV xöƒyöƒ ˛õÿ˛yò‰̨ õò ˆ◊!î=!°–

SâV 73ÈÙÈï˛ü §Ç!Óôyö §Ç Ï̂¢yôö xy•zö–

SäV Ó°ÓhsˇÓ̊y•z ˆü•ï˛y Ü˛!ü!ê˛–

Sã˛V çö≤Ã¢y§ Ï̂ö çö§yôyÓ˚̂ ÏîÓ˚ xÇ¢@ˇÃ• Ï̂îÓ˚ ˛õ Ï̂Ì Óyôy–

SåÈV ï˛ú˛!¢!° çy!ï˛ !Ó£ÏÎ˚Ü˛ çyï˛#Î˚ Ü˛!ü¢ö–

SçV Ó,!_àï˛ !¢«˛y–

English Version

1. Answer any two of the following : 18×2=36

(a) Give an overview of the emergence of Development
Administration.

(b) Distinguish between traditional administration and de-
velopment administration.

(c) What are the implications of the rolling back of the
state from areas of welfare administration ?

(d) What are the major problems faced by the Scheduled
Castes and Scheduled Tribes ? Mention the constitu-
tional provisions that specially target these population
groups.

2. Answer any three of the following : 12×3=36

(a) Explain the importance of decentralisation of authority.

(b) Give an outline of the district level planning machin-
ery.

(c) Discuss the major government schemes for the welfare
of women.

(d) Explain how women’s interests are linked to environ-
mental issues.P.T.O.

PG PA-IV (2)PG PA-IV
B/Jl/08

Y–50
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e) How was the task of the bureaucracy peceived during
the first five year plan ?

f) What are the functions of the state planning boards ?

3. Write notes on the following (any four) : 7×4=28

(a) Article 40 of the Indian Constitution.

(b) Basic features of ICDS programme.

(c) Other Backward Classes (OBCs)

(d) 73rd Constitution Amendment Act.

(e) Balwant Rai Mehta Committee.

(f) Hindrances to peoples participation in public adminis-
tration.

(g) National Commission for Scheduled Castes.

(h) Vocational education.

PG PA-IV(3)
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fl¨yï˛ Ï̂Ü˛y_Ó˚ ˛õyë˛e´ü

!¢«˛yÓ£Ï≈yhsˇ ˛õÓ˚#«˛y ÈÙÙÙ !í˛ Ï̂§¡∫Ó˚ñ 2009

çö≤Ã¢y§ö

˛õM˛Èü ˛õe

§üÎ˚ É ã˛yÓ˚ â^ˇê˛y ˛õ)î≈üyö É 100

Süy Ï̂öÓ˚ =Ó˚&c É 80%V

˛õ!Ó˚!üï˛ Ä ÎÌyÎÌ í z̨_ Ï̂Ó˚Ó˚ çöƒ !Ó Ï̂¢£Ï ü)°ƒ ˆòÄÎ˚y • Ï̂Ó–

x÷k˛ Óyöyöñ x˛õ!Ó˚FåÈß¨ï˛y ~ÓÇ x˛õ!Ó˚‹ÒyÓ˚ •hflÏy«˛ Ï̂Ó˚Ó˚ ˆ«˛ Ï̂e ö¡∫Ó˚

ˆÜ˛ Ï̂ê˛ ˆöÄÎ˚y • Ï̂Ó– í z̨̨ õy Ï̂hsˇ ≤Ã Ï̂Ÿ¿Ó˚ ü)°ƒüyö §)!ã˛ï˛ xy Ï̂åÈ–

1– ˆÎÈÙÈˆÜ˛yˆÏöy ò%!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 18×2=36

SÜ˛V çö≤Ã¢y§ö ¢y Ï̂flfÓ˚ í z̨̨ õ¢yáy !• Ï̂§ Ï̂Ó çöfl∫yÌ≈ö#!ï˛Ó˚ ˛õ!Ó˚!ô Óƒyáƒy Ü˛Ó˚&ö–

SáV ö#!ï˛!öô≈yÓ˚î ≤Ã!e´Î˚yÓ˚ Î%!_´Óyò# ü Ï̂í˛°ÈÙÈ~Ó˚ ü)° ö#!ï˛=!° xy Ï̂°yã˛öy

Ü˛Ó̊&ö–

SàV çöfl∫yÌ≈ö#!ï˛ !öô≈yÓ˚̂ ÏîÓ˚ ôy˛õ=!° Óƒyáƒy Ü˛Ó˚&ö–

SâV çöfl∫yÌ≈ö#!ï˛ ã˛ã≈̨ yÓ˚ ˆ«˛ Ï̂e Ó˚yçö#!ï˛Ü˛ÈÙÈxyÌ≈ö#!ï˛Ü˛ ò,!‹Tû˛!D xy Ï̂°yã˛öy

Ü˛Ó̊&ö–

2– ˆÎÈÙÈˆÜ˛yˆÏöy !ï˛ö!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 12×3=36

SÜ˛V •yÓ˚Óyê≈̨  §y•züöÈÙÈ~Ó˚ !§k˛yhsˇ @ˇÃ•î ≤Ã!e´Î˚y §¡∫̂ Ï¶˛ xy Ï̂°yã˛öy Ü˛Ó˚&ö–

SáV ~ Ï̂ç!Ü˛ Ï̂Î˚° ˆoyÓ˚ÈÙÈ~Ó˚ çöfl∫yÌ≈ö#!ï˛ Óƒyáƒy Ü˛Ó˚&ö–

SàV çöfl∫yÌ≈ö#!ï˛ ≤Ã!e´Î˚yÎ˚ xyü°yï˛ Ï̂sfÓ˚ û)̨ !üÜ˛y–

SâV ÎÌyÎÌ í z̨òy•Ó˚î§• Ï̂Îy Ï̂à çöö#!ï˛ Ó˚*˛õyÎ˚î ≤Ã!e´Î˚y Óƒyáƒy Ü˛Ó˚&ö–

SäV çöö#!ï˛ Ó̊*˛õyÎ̊ Ï̂î ~ÓÇ ü)°ƒyÎ̊ Ï̂ö §%¢#° §üy Ï̂çÓ̊ û)̨ !üÜ˛y !öÓ̊#«˛î Ü˛Ó̊&ö–

Sã˛V çöö#!ï˛ ≤Ã!e´Î˚yÎ˚ !ÓôyÎ˚Ü˛ Ï̂òÓ˚ û)̨ !üÜ˛y Óî≈öy Ü˛Ó˚&ö–

3– ˆÎÈÙÈˆÜ˛yˆÏöy §yï˛!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 4×7=28

SÜ˛V ˛õ%öÓ≈̂ ˇê˛öü%á# çöö#!ï˛ §¡õ Ï̂Ü≈̨  ~Ü˛!ê˛ ê˛#Ü˛y !°á%ö–

SáV ÚÚ!í˛§ Ï̂Ü˛y§≈ ˆú ̨ üÄÎ˚yÜ≈̨ ÛÛ Ü˛Ìy!ê˛Ó˚ xÌ≈ §Ç Ï̂«˛ Į̈̂ õ Óƒyáƒy Ü˛Ó˚&ö–

SàV “muddling through” Ü˛Ìy!ê˛Ó˚ üyôƒ Ï̂ü !°u˛Óœü Ü˛# Ó° Ï̂ï˛ ˆã˛ Ï̂Î˚̂ ÏåÈö⁄

SâV ~!üï˛y•z ~Í!¢ Ï̂Î˚yöy•zÈÙÈ~Ó˚ “Synthesis model” §ÇˆÏ«˛ˆÏ˛õ Óƒyáƒy

Ü˛Ó̊&ö–

SäV çöö#!ï˛ ≤ÃîÎ˚̂ Ïö Ú˛õ)î≈ Î%!_´ÓyòÛÈÙÈ~Ó˚ §#üyÓk˛ï˛y §¡∫̂ Ï¶˛ §Ç!«˛Æ ê˛#Ü˛y

!°á%ö–

Sã˛V çöö#!ï˛ ≤ÃîÎ˚̂ Ïö §Ç§ò#Î˚ Ü˛!ü!ê˛=!°Ó˚ û)̨ !üÜ˛y xy Ï̂°yã˛öy Ü˛Ó˚&ö–

SåÈV çöö#!ï˛ ≤ÃîÎ˚̂ Ïö xÈÙÈ≤Ãy!ï˛¤˛y!öÜ˛ üyôƒü !• Ï̂§ Ï̂Ó ≤Ãã˛yÓ˚ üyôƒ Ï̂üÓ˚ û)̨ !üÜ˛y

!Ó Ï̂Ÿ’£Ïî Ü˛Ó&̊ö–

SçV çöö#!ï˛ Ó˚*˛õyÎ˚̂ Ïî §yÇàë˛!öÜ˛ í z̨̨ õyòyö=!° §Ç Ï̂«˛ Į̈̂ õ !ö Ï̂ò≈¢ Ü˛Ó˚&ö–

Sé˛V çöö#!ï˛ ü)°ƒyÎ˚̂ ÏöÓ˚ =Ó˚&c Óƒyáƒy Ü˛Ó˚&ö–

S~èV ˆoyÓ˚ÈÙÈ~Ó˚ Capacity to Govern @ˇÃsi!ê˛Ó˚ xÓòyö §¡∫̂ Ï¶˛ §Ç Ï̂«˛ Į̈̂ õ

!°á%ö–

English Version

1. Answer any two questions : 18×2=36

(a) Explain the scope of public policy as a sub-field of the
discipline of Public Administration.

(b) Discuss the basic tenets of the rational models of
policy-making process.

(c) Explain the steps in the making of public policy
process.

(d) Discuss the political economy approach to public
policy analysis.

2. Answer any three questions : 12×3=36

(a) Discuss Herbert Simon’s decision-making process.

(b) Explain Yehezkel Dror’s theory of public policy.

PG PA-V (2)PG PA-V
B/Jl/05,06&07

P.T.O.
W–71/129
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(c) Examine bureaucracy’s role in the public policy
process.

(d) Explain, with suitable examples, policy implementation
as a ‘process’.

e) Examine civil society’s role in implementing and
evaluating public policy.

f) Describe the Legislature’s role in the public policy
process.

3. Answer any seven questions : 4×7=28

(a) Write a note on redistributive public policy.

(b) Explain briefly the meaning of Discourse Framework.

(c) What does Lindblom mean by “muddling through”?

(d) Explain briefly Amitai Etzioni’s ‘synthesis model’.

(e) Write a short note on the limitation of comprehensive
rationality in policy-making.

(f) Discuss the role of parliamentary committees in fram-
ing of public policy.

(g) Analyse the role of the media as a non-institutional
actor in framing public policy.

(h) Indicate briefly the organizational factors influencing
public policy implementation.

(i) Explain the importance of public policy evaluation.

(j) Write a short note on the contribution of Dror’s book
Capacity to Govern.

PG PA-V(3)
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fl¨yï˛ Ï̂Ü˛y_Ó˚ ˛õyë˛e´ü

!¢«˛yÓ£Ï≈yhsˇ ˛õÓ˚#«˛y ÈÙÙÙ !í˛ Ï̂§¡∫Ó˚ñ 2009

çö≤Ã¢y§ö

£Ï¤˛ ˛õe

§üÎ˚ É ã˛yÓ˚ â^ˇê˛y ˛õ)î≈üyö É 100

Süy Ï̂öÓ˚ =Ó˚&c É 80%V

˛õ!Ó˚!üï˛ Ä ÎÌyÎÌ í z̨_ Ï̂Ó˚Ó˚ çöƒ !Ó Ï̂¢£Ï ü)°ƒ ˆòÄÎ˚y • Ï̂Ó–

x÷k˛ Óyöyöñ x˛õ!Ó˚FåÈß¨ï˛y ~ÓÇ x˛õ!Ó˚‹ÒyÓ˚ •hflÏy«˛ Ï̂Ó˚Ó˚ ˆ«˛ Ï̂e ö¡∫Ó˚

ˆÜ˛ Ï̂ê˛ ˆöÄÎ˚y • Ï̂Ó– í z̨̨ õy Ï̂hsˇ ≤Ã Ï̂Ÿ¿Ó˚ ü)°ƒüyö §)!ã˛ï˛ xy Ï̂åÈ–

1– ˆÎÈÙÈˆÜ˛yˆÏöy ò%!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 18×2=36

SÜ˛V û˛yÓ˚ï˛#Î˚ §Ç!ÓôyˆÏöÓ˚ 73 Ä 74ï˛ü §ÇˆÏ¢yôˆÏöÓ˚ ú˛ˆÏ° fliyö#Î˚ hflÏˆÏÓ˚

˛õ!Ó˚Ü˛!“ï˛ xÌ≈̃ Ïö!ï˛Ü˛ ≤Ã¢y§ Ï̂ö ˛õM˛Èy Ï̂Î˚!ï˛Ó˚y Ï̂çÓ˚ û)̨ !üÜ˛yÎ˚ ˆÎ ˛õ!Ó˚Óï≈̨ ö

§)!ã˛ï˛ •ˆÏÎ˚ˆÏåÈ ï˛y !ÓˆÏŸ’£Ïî Ü˛Ó˚&ö–

SáV û˛yÓ˚̂ Ïï˛ Óy Ï̂çê˛ ≤Ã!e´Î˚yÎ˚ xy•zö§û˛y Ä ¢y§ö !Óû˛y Ï̂àÓ˚ û)̨ !üÜ˛y xy Ï̂°yã˛öy

Ü˛Ó̊&ö–

SàV Ú˛õy!ÓœÜ˛ = Ï̂í˛Ó˚Û §ÇK˛y !òö– Ú˛õy!ÓœÜ˛ =í˛Û Ä Ú≤Ãy•ẑ Ïû˛ê˛ =í˛ÛÈÙÈ~Ó˚ ü Ï̂ôƒ

˛õyÌ≈Ü˛ƒ !öÓ˚*˛õî Ü˛Ó˚&ö– Ú˛õy!ÓœÜ˛ = Ï̂í˛Ó˚Û ˆ«˛e=!° Ü˛# Ü˛#⁄ 4+7+7=18

SâV Ú§Ó˚Ü˛y!Ó˚ }î ˛õ!Ó˚ã˛y°öÛ §¡∫̂ Ï¶˛ ~Ü˛!ê˛ ê˛#Ü˛y !°á%ö– 18

SäV xyô%!öÜ˛ xÌ≈̃ Ïö!ï˛Ü˛ ≤Ã¢y§ Ï̂öÓ̊ ˆ≤Ã!«˛ Ï̂ï˛ í z̨òyÓ̊ Ï̃ö!ï˛Ü˛ Ó̊y‹T… ˆÌ Ï̂Ü˛ í ẑ̨ Ïòƒyà#

Ó˚yˆÏ‹T… Ó˚*˛õyhsˇˆÏÓ˚Ó˚ !Ó£ÏÎ˚!ê˛ xyˆÏ°yã˛öy Ü˛Ó˚&ö– 18

Sã˛V û˛yÓ˚̂ Ïï˛Ó˚ xÌ≈̃ Ïö!ï˛Ü˛ ≤Ã¢y§ Ï̂ö §Ç§ò#Î˚ !öÎ˚sfî !Ó£Ï̂ ÏÎ˚ ~Ü˛!ê˛ ≤ÃÓ¶˛ Ó˚ã˛öy

Ü˛Ó̊&ö– 18

SåÈV ‘PPBS’ §¡∫̂ Ï¶˛ ~Ü˛!ê˛ ≤ÃÓ¶˛ Ó˚ã˛öy Ü˛Ó˚&ö– 18

2– ˆÎÈÙÈˆÜ˛yˆÏöy !ï˛ö!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 12×3=36

SÜ˛V §Ó̊Ü˛y!Ó̊ ≤Ã¢y§ö Ä ˆÓ§Ó̊Ü˛y!Ó̊ ≤Ã¢y§ Ï̂öÓ̊ ü Ï̂ôƒ ˛õyÌ≈Ü˛ƒ !öÓ̊*˛õî Ü˛Ó̊&ö–12

SáV û˛yÓ˚̂ Ïï˛ ˆÜ˛wÈÙÈÓ˚yçƒ xÌ≈̃ Ïö!ï˛Ü˛ §¡õÜ≈̨  §¡∫̂ Ï¶˛ ~Ü˛!ê˛ §üy Ï̂°yã˛öyü)°Ü˛

≤ÃÓ¶˛ !°á%ö– 12

SàV Ú˛õy!ÓœÜ˛ =í˛Û §Çe´yhsˇ ö#!ï˛üyöK˛y˛õÜ˛ ï˛_¥!ê˛ xy Ï̂°yã˛öy Ü˛Ó˚&ö– 12

SâV û˛yÓ̊ Ï̂ï˛Ó̊ xÌ≈̃ Ïö!ï˛Ü˛ ≤Ã¢y§ Ï̂ö ˛õ!Ó̊Ü˛“öy Ü˛!ü¢ö Ü˛# û)̨ !üÜ˛y ˛õy°ö Ü˛ Ï̂Ó̊⁄

˛õ!Ó˚Ü˛“öy @ˇÃ• Ï̂îÓ˚ !Ó!û˛ß¨ ˛õÎ≈yÎ˚=!° xy Ï̂°yã˛öy Ü˛Ó˚&ö– 6+6=12

SäV àîï˛y!sfÜ˛ ¢y§öÓƒÓfliyÓ˚ §y Į̈̂ õ Ï̂«˛ Óy Ï̂ç Ï̂ê˛Ó˚ =Ó˚&c xy Ï̂°yã˛öy Ü˛Ó˚&ö–

âyê˛!ï˛ Óy Ï̂çê˛ §¡∫̂ Ï¶˛ ~Ü˛!ê˛ ê˛#Ü˛y Ó˚ã˛öy Ü˛Ó˚&ö– 6+6=12

Sã˛V ‘Performance budget’ Ó° Ï̂ï˛ Ü˛# ˆÓyé˛yÎ˚⁄ ~•z Óy Ï̂ç Ï̂ê˛Ó˚ ≤Ãôyö

ö#!ï˛= Ï̂°y Ü˛# Ü˛#⁄ 4+8=12

SåÈV û˛yÓ˚̂ Ïï˛ xÌ≈̃ Ïö!ï˛Ü˛ ≤Ã¢y§ Ï̂ö ü•y!öÎ˚sfÜ˛ Ä !•§yÓ ˛õÓ˚#«˛ Ï̂Ü˛Ó˚ û)̨ !üÜ˛yÓ˚

ü)°ƒyÎ̊ö Ü˛Ó̊&ö– 12

SçV û˛yÓ̊ï˛ §Ó̊Ü˛y Ï̂Ó̊Ó̊ xÌ≈̃ Ïö!ï˛Ü˛ ≤Ã¢y§ Ï̂ö §Ó̊Ü˛y!Ó̊ ày!î!ï˛Ü˛ Ü˛!ü!ê˛ ˆÎ û)̨ !üÜ˛y

˛õy°ö Ü˛ˆÏÓ˚ ï˛yÓ˚ ü)°ƒyÎ˚ö Ü˛Ó˚&ö– 12

3– ˆÎÈÙÈˆÜ˛yˆÏöy ã˛yÓ˚!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 7×4=28

SÜ˛V Úˆû˛yê˛ xö xƒyÜ˛yí z̨rê˛§Û Ó° Ï̂ï˛ Ü˛# ˆÓyé˛yÎ˚⁄

SáV ZBB Ü˛#⁄

SàV ‘Free-rider Problem Ü˛y Ï̂Ü˛ Ó Ï̂°⁄

SâV ‘CB TREE STRUCTURE’ Óƒyáƒy Ü˛Ó˚&ö–

SäV ‘3E’s Audit’ Ü˛y Ï̂Ü˛ Ó Ï̂°⁄

Sã˛V ÚÓ˚yçfl∫ âyê˛!ï˛Û Ü˛y Ï̂Ü˛ Ó Ï̂°⁄

SåÈV û˛Ó˚ï%̨ !Ü˛ ö#!ï˛Ó˚ ≤Ãy§!DÜ˛ï˛y !Ó£Ï̂ ÏÎ˚ !°á%ö–

SçV çyï˛#Î˚ í z̨ß¨Î˚ö ˛õ£Ï≈̂ ÏòÓ˚ àë˛ö Óî≈öy Ü˛Ó˚&ö Ä ≤Ãôyö ò%!ê˛ Ü˛yç !°á%ö–

Sé˛V Î%@¬ï˛y!°Ü˛yû%̨ _´ Ó˚yç Ï̂fl∫Ó˚ í z̨Í§ Ä ï˛yÓ˚ ÓƒÓ•yÓ˚ §¡∫̂ Ï¶˛ !°á%ö–

PG PA-VI (2)PG PA-VI
B/Jl/05,06&07
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English Version

1. Answer any two of the following questions :18×2=36

(a) Alayse the changing role of PRI in planned financial
administration at local level following the 73rd & 74th
amendment of Indian Constitution.

(b) Discuss the role of the legislature and the executive in
budget process in India.

(c) Define ‘Public Good’. Make a distinction between
‘Public Good’ and ‘Private Good’. What are the areas
of ‘Public Good’ ? 4+7+7=18

(d) Write a note on ‘Public debt management’. 18
(e) Discuss the transition from the liberal state to

enterpreneurial state in the context of modern financial
administration. 18

(f) Write an essay on parliamentary control over Indian
financial administration. 18

(g) Write an essay on ‘PPBS’. 18

2. Answer any three of the following questions : 12×3=36

(a) Distinguish between public and private financial
administration. 12

(b) Write a critical essay on centre-state financial relation
in India. 12

(c) Discuss the normative theory of ‘Public Good’. 12

(d) What role does the Planning Commission play in the
financial administration of India ? Discuss different
stages of plan formulation. 6+6=12

e) Discuss the importance of budget in the context of
democratic political system. Write a note on deficit
financing. 6+6=12

f) What is meant by ‘performance budget’ ? What are the
main principles of ‘performance budgeting’?4+8=12

g) Evaluate the role of comptroller and Auditor General in
India. 12

h) Evaluate the role of Public Accounts Committee in
financial administration of India. 12

3. Answer any four of the following questions :7×4=28

(a) What is meant by ‘Vote on Accounts’?

(b) What is ZBB ?

(c) What is ‘Free-rider Problem’ ?

(d) Explain ‘CB TREE STRUCTURE’.

(e) What is ‘3E’s Audit ?

(f) What is ‘Revenue deficit’?

(g) Write on the relevance of subsidy policy.

(h) Describe the composition of National Development
Council and its two main functions.

(i) Write on concurrent sources of revenue and its use.

PG PA-VI PG PA-VI

P.T.O.
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fl¨yï˛ Ï̂Ü˛y_Ó˚ ˛õyë˛e´ü

!¢«˛yÓ£Ï≈yhsˇ ˛õÓ˚#«˛y ÈÙÙÙ !í˛ Ï̂§¡∫Ó˚ñ 2009

çö≤Ã¢y§ö

§Æü ˛õe

§üÎ˚ É ã˛yÓ˚ â^ˇê˛y ˛õ)î≈üyö É 100

Süy Ï̂öÓ˚ =Ó˚&c É 80%V

˛õ!Ó˚!üï˛ Ä ÎÌyÎÌ í z̨_ Ï̂Ó˚Ó˚ çöƒ !Ó Ï̂¢£Ï ü)°ƒ ˆòÄÎ˚y • Ï̂Ó–

x÷k˛ Óyöyöñ x˛õ!Ó˚FåÈß¨ï˛y ~ÓÇ x˛õ!Ó˚‹ÒyÓ˚ •hflÏy«˛ Ï̂Ó˚Ó˚ ˆ«˛ Ï̂e ö¡∫Ó˚

ˆÜ˛ Ï̂ê˛ ˆöÄÎ˚y • Ï̂Ó– í z̨̨ õy Ï̂hsˇ ≤Ã Ï̂Ÿ¿Ó˚ ü)°ƒüyö §)!ã˛ï˛ xy Ï̂åÈ–

1– ˆÎÈÙÈˆÜ˛yˆÏöy ò%!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 18×2=36

SÜ˛V fliyö#Î˚ ≤Ã¢y§ö !Ó£ÏÎ˚Ü˛ öÎ˚yÈÙÈí z̨òyÓ˚ö#!ï˛Óyò# ï˛ Ï̂_¥Ó˚ Ä˛õÓ˚ !öÓ¶˛ !°á%ö–

SáV fliyö#Î˚ ≤Ã¢y§ö !Ó£ÏÎ˚Ü˛ öÎ˚y üyÜ≈̨ §Óyò# ï˛ Ï̂_¥Ó˚ !Ó Ï̂Ÿ’£Ïî Ü˛Ó˚&ö–

SàV Î%_´Ó˚y Ï̂çƒ fliyö#Î˚ ¢y§ Ï̂öÓ˚ !ÓÓï≈̨ Ï̂öÓ˚ Ä˛õÓ˚ ê˛#Ü˛y !°á%ö–

SâV ˆÜ˛w#û)̨ ï˛ Ä xÇ¢@ˇÃ•îÜ˛yÓ˚# àîï˛ Ï̂sfÓ˚ ü Ï̂ôƒ !Óï˛ Ï̂Ü≈̨ Ó˚ ü)° Î%!_´=!°

˛õÎ≈y Ï̂°yã˛öy Ü˛Ó̊&ö–

2– ˆÎÈÙÈˆÜ˛yˆÏöy !ï˛ö!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 12×3=36

SÜ˛V §¡õ!_ Ü˛ Ï̂Ó˚Ó˚ §%!Óôy=!° xy Ï̂°yã˛öy Ü˛Ó˚&ö–

SáV ‘linkage’ÈÙÈ~Ó˚ öyöy ôÓ˚ö Óî≈öy Ü˛Ó˚&ö–

SàV ≤Ã¢y§!öÜ˛ !Ó Ï̂Ü˛w#Ü˛Ó˚î Ó° Ï̂ï˛ Ü˛# ˆÓyé˛yÎ˚⁄

SâV fliyö#Î˚ ≤Ã¢y§öÈÙÈ!Ó£ÏÎ˚Ü˛ xy Ï̂°yã˛öyÓ˚ í ẑ̨ Ïj¢ƒ Ü˛# Ü˛#⁄

SäV 1945 ˆÌ Ï̂Ü˛ 1990 §y Ï̂°Ó˚ ü Ï̂ôƒ çyü≈yö Ó˚y Ï̂‹T…Ó˚ !Óû˛yçö Ä ˛˛õ%ö!ü≈°ö

!ö Ï̂Î˚ ê˛#Ü˛y !°á%ö–

Sã˛V fliyö#Î˚ hflÏˆÏÓ˚ üyÜ≈˛§Óyò#ï˛ˆÏ_¥Ó˚ ≤ÃˆÏÎ˚yˆÏà ÓƒÌ≈ï˛y ˆÜ˛ö⁄

3– ˆÎÈÙÈˆÜ˛yˆÏöy ã˛yÓ˚!ê˛Ó˚ §Ç!«˛Æ ê˛#Ü˛y !°á%ö É 7×4=28

SÜ˛V Ó̊yç Ï̃ö!ï˛Ü˛ !Ó Ï̂Ü˛w#Ü˛Ó̊î–

SáV Î%_´Ó˚y‹T…#Î˚ Ó˚yçfl∫ ÓƒÓfliyÓ˚ §ü§ƒy–

SàV ú ̨ y Ï̂™ ≤Ã¢y§!öÜ˛ í z̨̨ õ!Óû˛yà (Subdivisions)–

SâV í z̨òyÓ̊ö#!ï˛Óy Ï̂òÓ̊ ò,!‹T Ï̂ï˛ fliyö#Î̊ ¢y§ö–

SäV ˆ˛õÔÓ˚§û˛yÓ˚ Ó˚yçˆÏfl∫Ó˚ öyöy ôÓ˚ö–

Sã˛V ú ˛yˆÏ™Ó˚ ‘Commune’–

English Version

1. Answer any two questions : 18×2=36

(a) Write an essay on Neo-liberal theory of local
governance.

(b) Analyse the views of the Neo-Marxian school on a
theory of local governance.

(c) Write a note on the evolution of local government in
United Kingdom.

(d) Elucidate the main points of the debate between
centralised and participatory democracy.

2. Answer any three questions : 12×3=36

(a) Discuss the advantages of Property tax.

(b) Describe the types of ‘linkage’.

(c) What is Administrative decentralization ?

(d) What are the purposes of local government studies ?

e) Write a note on the division and reunification of the
German State during 1945-1990.

f) Why the Marxist theory fails at the local level ?

PG PA-VII (2)PG PA-VII
B/Jl/05,06&07

P.T.O.
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3. Write short notes on four : 7×4=28

(a) Political Decentralization.

(b) Problem of Fiscal Federalism.

(c) Administrative Subdivisions in France.

(d) Liberal view of Local government.

(e) Types of Municipal revenues.

(f) Communes in France.

PG PA-VII(3)
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fl¨yï˛ Ï̂Ü˛y_Ó˚ ˛õyë˛e´ü

!¢«˛yÓ£Ï≈yhsˇ ˛õÓ˚#«˛y ÈÙÙÙ !í˛ Ï̂§¡∫Ó˚ñ 2009

çö≤Ã¢y§ö

x‹Tü ˛õe

§üÎ˚ É ã˛yÓ˚ â^ˇê˛y ˛õ)î≈üyö É 100

Süy Ï̂öÓ˚ =Ó˚&c É 80%V

˛õ!Ó˚!üï˛ Ä ÎÌyÎÌ í z̨_ Ï̂Ó˚Ó˚ çöƒ !Ó Ï̂¢£Ï ü)°ƒ ˆòÄÎ˚y • Ï̂Ó–

x÷k˛ Óyöyöñ x˛õ!Ó˚FåÈß¨ï˛y ~ÓÇ x˛õ!Ó˚‹ÒyÓ˚ •hflÏy«˛ Ï̂Ó˚Ó˚ ˆ«˛ Ï̂e ö¡∫Ó˚

ˆÜ˛ Ï̂ê˛ ˆöÄÎ˚y • Ï̂Ó– í z̨̨ õy Ï̂hsˇ ≤Ã Ï̂Ÿ¿Ó˚ ü)°ƒüyö §)!ã˛ï˛ xy Ï̂åÈ–

1– ˆÎÈÙÈˆÜ˛yˆÏöy ò%!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 18×2=36

SÜ˛V Ü˛# x Ï̂Ì≈ §%¢y§ö ≤Ã!e´Î˚y ¢y§öÓƒÓfliyÓ˚ ˆÌ Ï̂Ü˛ ˛õ,ÌÜ˛⁄ §%¢y§ö ≤Ã!e´Î˚yÓ˚

ü)°ö#!ï˛=!°Ó˚ xy Ï̂°y Ï̂Ü˛ í z̨_Ó˚ !òö–

SáV ï,̨ ï˛#Î˚ !Ó Ï̂Ÿª §%¢y§ö ≤Ã!e´Î˚y ~ÓÇ çö≤Ã¢y§ Ï̂öÓ˚ ≤Ãy!ï˛¤˛y!öÜ˛ Ä

û˛yÓyò¢≈ü)°Ü˛ !Ó Ï̂¢£Ï xyÓ¢ƒÜ˛#Î̊ï˛y=!° Ï̂Ü˛ ˛õ!Ó̊fl≥%̨ ê˛ Ü˛Ó̊&ö–

SàV §yÇfliy!öÜ˛ §üß∫Î˚ Ü˛yÎ≈e´ü (Structural Adjustment Programme)

Ü˛#û˛y Ï̂Ó ~ÓÇ ˆÜ˛yö‰ ˆÜ˛yö‰ !ò Ï̂Ü˛ û˛yÓ˚ï˛#Î˚ ≤Ã¢y§ö Ï̂Ü˛ ≤Ãû˛y!Óï˛ Ü˛ Ï̂Ó˚̂ ÏåÈ ï˛y

ˆòáyö–

SâV §yüy!çÜ˛ öƒyÎ˚ ~ÓÇ §%¢y§ö ≤Ã!e´Î˚yÓ˚ ˆü°Ó¶˛ Ï̂ö ò!Ó˚o ~ÓÇ ≤Ãy!hsˇÜ˛y!Î˚ï˛

üyö%£Ï̂ ÏòÓ˚ çöƒ ≤Ã¢y§ö ˆÜ˛ö =Ó˚&c˛õ)î≈ ï˛y !ö Ï̂ò≈¢ Ü˛Ó˚&ö–

2– ˆÎÈÙÈˆÜ˛yˆÏöy !ï˛ö!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 12×3=36

SÜ˛V §%¢y§ö ≤Ã!e´Î˚yÓ˚ çöƒ òyÎ˚Ók˛ï˛y ˆÜ˛ö ≤Ã Ï̂Î˚yçö#Î˚ ï˛y ˆòáyö–

SáV ÚÚöyà!Ó˚Ü˛ §öòÛÛ Ó° Ï̂ï˛ xy˛õ!ö Ü˛# ˆÓy Ï̂é˛ö⁄

SàV ~Ü˛!ê˛ ≤Ã¢y§!öÜ˛ ˆÜ˛Ô¢° !• Ï̂§ Ï̂Ó ˜Óò%ƒ!ï˛öÈÙÈ¢y§ Ï̂öÓ˚ §ÇK˛y !ò Ï̂Î˚ û˛yÓ˚̂ Ïï˛

Ó̊yçƒhflÏ̂ ÏÓ̊ ˜Óò%ƒ!ï˛öÈÙÈ¢y§ Ï̂öÓ̊ í ẑ̨ Ïòƒyà=!°Ó̊ í z̨̨ õÓ̊ xy Ï̂°yÜ˛˛õyï˛ Ü˛Ó̊&ö–

SâV §%¢y§ö ≤Ã!e´Î˚yÎ˚ fl∫FåÈï˛yÓ˚ =Ó˚&c ˆÜ˛yÌyÎ˚⁄

SäV ˛õ!ÿ˛üÓ Ï̂D !Ó Ï̂Ü˛w#Ü,̨ ï˛ ≤Ã¢y§ Ï̂öÓ˚ ü)° ˆã˛•yÓ˚yê˛y Ü˛#⁄

Sã˛V !°DÈÙÈ!ö!ò≈‹T ≤Ã¢y§ Ï̂öÓ˚ ≤Ãôyö ˜Ó!¢‹Tƒ=!° Ü˛# •ÄÎ˚y í z̨!ã˛ï˛⁄

3– ˆÎÈÙÈˆÜ˛yˆÏöy ã˛yÓ˚!ê˛ ≤Ã Ï̂Ÿ¿Ó˚ í z̨_Ó˚ !òö É 7×4=28

SÜ˛V §%¢y§ö ≤Ã!e´Î˚yÎ˚ öyà!Ó˚Ü˛ÈÙÈx!û˛ Ï̂Îyà ≤Ã!ï˛Ü˛y Ï̂Ó˚Ó˚ í z̨̨ õyÎ˚=!° Ü˛# xÓòyö

Ó̊y Ï̂á⁄

SáV §Ó˚Ü˛y!Ó˚ ÈÙÈ ˆÓ§Ó˚Ü˛y!Ó˚ xÇ¢#òy!Ó˚c û˛yÓ˚ï˛#Î˚ çö≤Ã¢y§ Ï̂ö ˆÜ˛yö‰ ˆÜ˛yö‰

ˆã˛•yÓ̊yÎ̊ ~ Ï̂§ Ï̂åÈ⁄

SàV Ó˚y‹T…#Î˚ í ẑ̨ Ïòƒyà=!°Ó˚ !Ó°!@¿Ü˛Ó˚̂ ÏîÓ˚ ˛õ Ï̂«˛ Î%!_´=!° Ü˛# Ü˛#⁄

SâV ˜Óò%ƒ!ï˛ö ¢y§ö ≤Ã!e´Î˚y xyÓ˚ ˜Óò%ƒ!ï˛ö ¢y§öÓƒÓfliyÓ˚ ˛õyÌ≈Ü˛ƒ Ü˛#⁄

SäV çö Ï̂Ü˛!wÜ˛ çöÓƒÓfliy˛õöyÓ˚ ˛õ)Ó≈¢ï≈̨ =!° Ü˛# Ü˛#⁄

Sã˛V !Ó Ï̂Ü˛w#Ü,̨ ï˛ ¢y§ö ≤Ã!e´Î˚yÎ˚ §yüy!çÜ˛ ˛õ%Ñ!çÓ˚ û)̨ !üÜ˛y Ü˛#⁄
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English Version

1. Answer any two questions : 18×2=36

(a) In what sense good governance is different from gov-
ernment ? Answer in the light of the principles of good
governance ?

(b) Bring out the institutional and ideological special re-
quirements of good governance and public administra-
tion in the Third World ?

(c) Show how and in what directions the Structural Adjust-
ment Programme has influenced Indian administration.

(d) Indicate why in the wedlock / alliance of social justice
and good governance administration for the poor and
marginalised persons is important.
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2. Answer any three questions : 12×3=36

(a) Show why accountability is necessary for good gover-
nance.

(b) What do you understand by citizens’ charter ?

(c) After defining e-governance as an administrative tech-
nique throw light on the initiatives of e-governance in
the states of India.

(d) Where lies the importance of transparency in good
governance ?

e) What is the basic picture / structure of decentralized
administration in West Bengal ?

f) What should be the main features of gender-specific
administration ?

3. Answer any four questions : 7×4=28

(a) What contribution does the means of citizen-
grievances redressal mechanisms make to good
governance ?

(b) In what forms have public-private partnerships come in
Indian administration ?

(c) What are the arguments for the disinvestments in public
sector undertakings ?

(d) What is the difference between e-governance and
e-government ?

(e) What are the prerequisites of people-centric public
management ?

(f) What is the role of social capital in decentralized
governance ?

(g) What are the advantages of decentralized planning ?
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